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Min Z=3 X; +4 X, +3 X3

S.T

3X; +2 X,+ X3 < 960

5X;+8 2X,+4X; <5000
<2400 3X3+6X; + 3X;3

X1,X%X3, X 20

Sol
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5-8(1\2) = 1
8-8(1) =0
4-8(1\2) =0
0-8(0) =0
1-8(0)= 1
0-8(1\6) = -4\3

5000-8(400)= 1800

3-2(1\2) =2
2-2(1)=0
1-2(1\2) =0
1-2(0)= 1
0-2(0) =0
0-2(1\6) = -1\3

960-2(400) = 160

Jals
2 4 3 l 0 0 0
COlalea | il axdiall 2 gas
Gl il | Asla! [ X, [ X, X S, S, S, Jadl
B.C B.V SoL
X 1 0 0 1\2 0 -1\6 |80
S, 0 0 0 -1\2 |1 -7\6 |1720
X 0 1 1\2 |-1\d |0 1\4 360 |z.=
—ia
iy (o 0 -1 1\2 0 1\2
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X; Sz
1\2-1\2(1) =0 1-1=0
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0-1\2(1\2) =-1\4 0-1\2=-1\2
0-1\2(0) =0 1-0=1
1\6-1\2(-1\6) = 1\4 -4\3 - (-1\6 ) =-7\6
1800-1\2(80) = 360 800 - 80 = 1720
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Max Z = 10X, +9X,

S.T

5X, + 4X, <120

2X; + 4XOLE 60

X1, %,>20

Min w =120 Y, + 60 Y, (Min) 3 (MaX) (e cazgll Qs Jasad 1 J5¥) 55kl

OSallyy Cigiaa Ul 501 Jysad 2gl) Zglly ;3000 54kasl

o Ol pop 2aliel

Scanned by CamScanner



S.t

5Y;+2Y, > 10
4Y, +4Y,> 9

Yi.Y22>20

—

prom—
L
Transfer to dual model

7 3

2X; + 2X; - X3 <20

il Max Alla

[2X,— 2X; > 10]°-1 =2 &=os

Jal s @b 2 gall
l\.l.ll-] .
Xi, X2, X320 e
Sol
Max Z = X, +2X, — 3X. Min w = 20Y; + 18Y, +10Y;
s.t
S.T
2V, +Y, 21
2X, + 2X, = X5 <20 2V, zj -
1
X+ 3X; <18 Y, +3Y,42Y; 2-3
-2X,+ 2X; <-10 Y, Y20
X1, X, X220
oo Ol pop 2210l
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Find the optimal solution of dual model from primal model.
lJ\\ W
ST

3+ X, - X3 > 1

X = 0% <1

Xid Xo= 0
X1, X,,20 , X3 Unrest
Jall
M [/“.(J?'L-
(Max) I (Mifl) g Cangll Al Jysa 1 J¥1 55kl
NS WA LN
W Z = 6X; +4X; - X4 Z = 6X1 +4X; - X3
S.T ' > st
st el B R ]
[BX; + X, — X3 > 1]*- 1w <2 (max) s
e asSi oy (R ) N
s ot 2 gall
Xi=X,= 2X; <1 g
b = S e S X, +X,20
(S)s s
Xi+ X220 X;,X,,20 ,X3Unrest
Ny gl S5 Lave
)ﬂ‘i{w =-Y;+Y, 28a y& gl unrest
CJ_,AJH uﬁS_}L&Y]
.1 05 dal i Ly
-3Y,+Y,+ Y; < 6 ]
Jaadll

-Yl = Yz + Y3 < 4
e} AW =3 gaill b 5 S Lanie Ll
Yi—-2Y,+0 =-1 il 8 gladll o (g ging 28 (J) sl
el Zagaill 43 )LEY) Ak pe it
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Yi.0 Yo Y320
EX 4
MA;( é=)(1+)(2
9. 10
2X,+X,= 5
3X;—X=6

X1, X2, UNRESTRICTED

AN
MIN Y= 5Y,+6Y,
S. TO:
2Y,+3Y, = 1
Y,-Y,=1

yl, y2 unrestricted

Caagy Auhadll Aaayull = 3gai sa Jilll z2saiy Aphadll Laapll 3 Lagall Clipdadll (pe Jidd) A2 el
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:.}, 2 1 2 N (
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1 Cu1 Ciz —‘ Cin a
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M c|\.'|1 sz CMN a,
Xml Xm2 an
(wikl)Demand b, b, bm

oMo Q}\! far 12l
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Min Z= ¥™ . ¥ CijXij

5t
}1=1X1] = 3l
i=1 Xij = bj

\ Xii 20 J

Al el S

A Clshall 38a5 (e 2 JAll z25es dady

)|

-Y

dagdiph -
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€ Usiia ol bl Ja ooyl - Y

k’uﬁ"! ds sl =¥

Ji g dai Aijlga : )

Yai=3b ol g clsie gasalll 0S¢ s Jull zisei o cula] byl ()
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1 2 3 4 | supply
1 . k 0 10
2 ﬂ ¢ o1 15
3 ? 1 01 20
(wikl)Demand 15 15 10 5 45
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Aglse Lgd Jaill IS (Clua) cans jlas Canal (ajell goaae o Sl Gl gsena IS 13-

1 2 3 supply
3 2 0
1 10
2 1 > : 15
3 7 1 | 3 10
Demand 20 10 10
waaliE bl
1 2 3 supply
2 0
1 a 10
2 1 ? 4 15
3 7 1 3 10
4 0 0 0 5
Demand 20 10 10 40
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(INITIAL SOLUTION) Jssia (1 5f gulaal Ja syl : T8
(north —west corner method ) ) Jladdl s )l diy b -

Find the initial solution of linear programing (L.P) by using north -west

corner method

A adll (S
N1 2 3 supply
s b o [e] - [e)r
2 |4 4| ~| 2159 0
s | ], [l
demand ;LB/E( ﬁ 0 30
0 0

Min Z = 7(1) + 3(0)+ 9(4) + 1(1) +10(5) = 94

r
| .
G Jall fag
o8 a8 1 30
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Oty sl
oaall e bl | L
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ity

V- adigall 22+ aladll 2o
M+n-1
3+43-1=5
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(lest cost method) 4dls J8 4k ok -
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EX

Find the initial solution of linear programing (L.P) by using lest cost
method.

1 2 ‘ 3 supply
s L] 2], L
2 L2) 2Ll 2| 15770
- L . 31/7 s |2 20
' %
pd A0
demand 0 0 ﬁ 30
0
Min Z=7(6) + 2(2) +10(1)+1(5) +10(0) sl
V- fdlgall as + il 230
:61 M+n-1
3+3-1=5
Aaulu) @l padal) 22 Jiad
( EX

Find the initial solution of linear programing (L.P) by using lest cost
method.

03l gual
alkia] 1 2 3 supply
14 10
E 7| 12 346 1@0 0
15 17 13
2 | -~ 1500 i 500 0
11 13 12
3 1200 100 250 #4550 350 366 0
1200 1660 1650
demand 0 1500 " 250 4450
0 0
Min Z = 1500(17) + 1200(11) +100(13)+250(12) +1400(10) | \- adigall 222 + jilaal) 330
M+n-1
= 57000 3+3-1=5
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(Vogel method) Ja sé 4a; yha -
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Find the initial solution of linear programing (L.P) by using Vogel method

1 2 3 supply p.c
/| . 2] s 4/0 111
0
2 |, Ala] |2 /I{A:o 24
7k 51
3, 3|, 1| | s ,nff/b 2 222
//jf/’ il Py
demand /1/ 0 0 30
0
1 1 3
1 1
2 1
2

Min z= 7+20+0+3+10 = 40
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1 2 3 4 supply p.c
5 0
¥ | 10 1] 10 LO 46 260 00000
S K1 e k] P K R A 4650 |22
3
7 5 2 0
P e i 15 %5 0 22210
s | 9] ~ L&) o] | daso 00000
5 a0 A5 30
demand 0 0 0 ﬁ 60
0
2 1 0 0
1 0 0
4 0 g
0 0
0

Min Z=10+15 =25

(OPTIMAL SOLUTION) Jiill 3 gail Jia¥! Jall alayl ; a8
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oo Ol pop 2210l

Scanned by CamScanner



(sl ) pusia¥) e il RS ay g tadly Jalal uiddl o i Jiel e Jall IS 13) -
(s Aed jaaal o Al 3 LA 26 prse 4y 5,88 IS 50 48 (3N

RS Jalall il e aua s aas W) iall aniy Sl e Jg) s Laila Jaldll yuidl -o
o il e GRLAILN A 5 51 gaal (s g il e el

ke 0 A BRI 5 el ol A gl gt sl ol ey

N

HJAJAL&L}&L%J;IJE‘S&JE‘AC MUS;Z_EJLJJ'. L'_IIIJL-AJIICT}A.LJI‘)SS -y

)

Find the optimal solution of linear programing (L.P) by using stepping

stone.
1 2 3 supply
5 1 8
1A .1 12
< .
.f’:rﬁ —y I T
. 2 | | 4 0 l
2 . 14
g 7 w7
=
3 6 7
. v
3 4?___»-4 v 4
€
demand 9 10 11 30
Min z =104
Xiz—= X2 = X2 — X23
Cli3=+8-1+4-0 =
X1 — X1 = Xy — Xzz
Cu=+2-5+1-4=-§
X33 — X3 = X3 — X33
Ayt CiH Al A 2o g3 4l Lag
Cry, = 6-4+40-7 =15
Jidl pe Jall ofla
X31— X11 — X — X22 — X3 — X33 GJ‘-‘J‘J Jalal sl grCw. 1l
CA31 = +3-5+1-4+0-5 = Fi2 el R b e
(12-) &) Al 8y ad
! l
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et gl e Laila Jalall sl

X11 = X — X22 — X3

9 3 ¥ 7

4 5 i 3 . = dalall juaiall Jae z Jlall uatall 4ad Jau
V V v

(9-4) (3+4) (7-4) (7+3)

1 2 3 supply
5 3 7 ! e
1 A — 12
_* °
- 4
1
El o I[]
2 . > 14
|3 11I
3 A4 6 l 7
3 4& s 4
Min =56 demand 9 10 11 30
Xi3 = X1 = Xy — X23
Cli3=+8-1+4-0 =11
X21— X11 = X12 — X22
Cu=+2-5+1-4=1§ -
e R
X3 2 X351 2 X131 2 Xp2 Jial 5t Jall ofi
Chy; = 6-3+5-1=F Al Al i kg )

X33— X33 — X113 — X2 — Xy — Xa3 =i A o biaw il
(-6) & Allially 48 5une 18
Chyp = +7-3+5-1+4-0 = 12 t—j
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X21— X1 = X —
5 7

3 12 10 -

1 | 2 3 supply
5 | 1 8
1 *ZT__I_lﬂ_, . 12
' E
| N 4
2 0 —‘
2 31, —w%l a J 14
L 11 >
A »
| 3 6 7
3 4 <5 e A 4 4
= v
demand 9 10 11 30

X13 — X11 = X1 — X3
C'i3= +8-5+2-0=§
X2 — X2 — Xp1 — Xy
C'=+4-1+5-2=§

X3 2 Xs1 2 Xu 2 X2
Chyy=6-3+5-1= 1
X33— X31 — Xz1 — Xz3

Chy3 = +7-3+2-0 =]

el Jall ofa
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Al 333N 3kl gaals Jsaall A gV sl dall 25 -0

(V)) el dalasey oy Ciua Canzi o(Ui) oeall dalaar pois 3 e Jaill Jsaa I Canal Y

& s dumiy s (vj) o (ui) ol Jele WA gaa) (3 Jia (o sl 450080 Lad Capad -
(ui) el dale e (Y1 AN

Cij = ui+vj 4l a8l Gkt (vj) 5 (Ui) a8 g oAk - ¢

C'ij = Cij = (ui+Vj) A Aslaadl i e Sl g Al e il ppatall &y ) GlKH aas -e
dall Gld Al saal g 4 e 48S JBY1 e cailS 13) 5 el Jall 0 dan g0 S e il 13
el g2

Zoiall Jludl 48y 5k <l ghaa ety LAl Jalall il & st Jiel e dall IS 131 -1
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Find the optimal solution of linear programing (L.P) using Multipliers

1 2 3 supply ui
5 1 8
1 s 4 —T 12 U= 0
2 4 I 0
2 7 7 14 U,=3
3 6 I 7
3 ¢ - 4 Us=10
4 3
€
demand 9 10 11 30
Vj V1=5 V2= V3=‘3
/
Min= 104
Cij = ui+vj Al <l ppaiall S o it 1 dgY1 5 ghadl)

C11=U1+V1 5=0+V1 V1=5
C12=U1+V2 1=0+V2 V2=3

Ch=U+V, 4=U,+1 U,=3
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C23= U2+V3

C33= U3+V3

C"ij = Cij = (ui + Vj)

0=3+V;

7=U;+(-3)

Us; =10

a%mh?‘ﬁ&]ﬁ]uﬁcm@mlﬁ_’kﬂl

C =0~ (ug—v3) 8-(0+(-3)) Ca=11
C=2-(3+5) By; =<8
C'31=3-(10+5) C'y =i
C32=6-(10+1) € =5
Jial e Jall 13 e Al o 2055 4 L
e sl e Ladla Jalall JJ.MM] by 38 st da ) jluee 3215
—

— X11 = X2 — Xzz — X3

- 3 7 7

4 5 T 3 11 -
1 2 3 supply ui
. [, [z
1 12 U=0
) l Tl 0
2 ! < - 14 Us=3
3
| 6 I 7
- S 3 ) 4 Us=-2
demand 9 10 11 30
\.\‘j V1=5 V2= V3=-3
Ci5="Cis— (ug +v3) 8-(0+(-3)) Clig=11
Chi=2-(3+5) Cyu =26
C'3=6-(-2+1) Cs =7
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Caa= 7-(-2-3)

X21— X131 — Xy

Cs =12

Ao 3o 4alS 5 f Bl e Jal

5 7
3 2 10
1 2 3 supply ui
8
1 5 10 1 12 Ui=0
2 3 I 0
2 3 11 14 U,=3
3
6 I 7
3 3 4 Us=-2
demand 9 10 11 30
Vj V_f—“S Vg V3:3
C513=C13—(u1+v3) 8-(0+5 ) CA13=3
C'p=4-(3+1) C', =0
Cy=6-(1-2) cy, =7
Ch33= 7—(-24‘3) Cn33 =4

MinZ= 2(5) +10+3(2)+3(4)+0+4(3) = 50
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Find the optimal solution of linear programing (L.P) using Maltipliers

1 2 3 supply ui
1:3 1.5 1.2 I 15 Us= 0
: 4 4 7 =
1.6 1.8 1 —‘I
2 . 5 U,=-0.2
demand 4 4 12 20
vj Vi=1.3 V,=1.5 Vi=1.2

Min Z= 4(1.3)+4(1.5) +7(1.2) + 5(1) = 24.6

Cij = ui+vj
C11=U1+V1 1.3=0+V1
C12=U1+V2 1.5=0+V2

C]_3=U1‘|'V3 1.2=0+V3

C23=U2+V3 1= U2+1.2

C’ij = Cij — (ui + Vj)

V,=13

V,=15

Vy=1.2

Vs =-0.2

Ch1= Caa—(Uz+V4) 1.6-(-0.2+1.3)

C'y=Cp—(Uy+ V) 1.8-(-0.2 +1.5)

JSNI

dnalua¥) O juatall Gl o Al 1 gV 5 ghadll

C',=0.5

Cc',,=05
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